Simplificar Expresiones (B)

Simplifique cada expresion.

x4 1—4+1-2 6. 8u+u—v+uv+1
BvHv—Tv+3v -7 7. —1+au—u+u?+Tu?
122 +6-9y+7 8. ov—14+v+cv—c
L=y —=2y4yz4+z2—y 9. =Sc+c+c*—1+4¢?
.av+1+T7+a+a 10. =3+v+6v+2+9v
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Simplificar Expresiones (B) Respuestas

Simplifique cada expresion.

Cx2 4 1—441-2 6. 8ut+u—v+uv+1

— _—x2_4 =uw+u—v+1

v v—TVv 4+ 3v—17 7. —1+au— u+u*+ Tu?
:_7v2+7v—7 :au+8u2—u—l

1 —-224+6—-9y+7 8. ov—1+v+cv—c

= -—9y+7 =cv+Tv—c—1

Yy —2y+yzH+2—y 9. —=5c+c+c?—1+c?
:yZ—|—Zz—4y :202—46—1
.av+1+T7+a+a 10. —=3+v+6v+2+9v
=av+2a+8 =16v—1

MatesLibres.Com




